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AB Calculus TEST: 2.1 -2.6, NO CALCULATOR

Multiple Ch01ce—P§1t the (c?rrect CAPITAL letter in the space on the OFFICIAL answer sheet of the NFL.
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If f(x)="2 - where c is a constant, find f(x).
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Let f(x)=sinxcosx+xfor 0<x< 3% . Find all values for which f"(x)=1.
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If f(x)=+xcotx, find f(x).
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Let the functions fand g and their derivatives be defined at x = 1 and x = —1 by the table below. If f (g(r))
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A particle moves along the x-axis such that at any tim@ @its position function is given by
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A particle travels on a straight line with velocity v(r) as given in the figure
to the right. In what interval(s) is the particle speeding up?

L (0.p) / . (p.q) I11. (q,r)/

A. L only B. 1l only C. 1l only
D. Tand ITonly (EJT'and 1T only

v(z)

Pl 17.
; : . . .. .. T
A particle moves along the x-axis so that at any time 7 its position is given by x(r) = —40035 —Jt, 120,
What are all values of ¢, 0 < ¢ < 2, for which the particle is at rest? X = yle) = z/mﬂ;@ LT =0
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Iff(z)= sin’ (Zx +g) , find lim
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In the table below, the values of f(x), g(x), f'(x) and

y =[f(?_x)+g(x)]2 . find y(3).
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November falls immediately between October and which month?

A. July

B. Monday

C. Decimeter

D. December E. Wurstfest
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AB Calculus TEST: 2.1 -2.6, NO CALCULATOR
OFFICIAL COVER SHEET OF THE NFL

Put the CAPITAL letter of the correct answer in the space provided. Attach all work to separate paper. No
credit will be given if no work is provided.
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I certify that I received no help on this take-home test. All answers were obtained through my own efforts and
industry without a calculator. I did not get answers from another, nor did I cheat in any way. I am prepared to
answer and justify, in person, any answer to any question I get correct, and I will willingly do so, because I am
an impeccably honest individual with the utmost integrity and nothing to hide. Ilove math, too!

(sign your name above) (date of signature)



